MIDWEST SENIOR CLASSIC

Season 27, Issue 6

January 12, 2022

About us:

The MSC is a bowling venue for fifty and older players, female or male. Please note that all participants must be at LEAST 50 years of age on the day of the tournament to compete.

Dues & Fees:

The MSC offers 10 Events per year, August through May. Entry Fees for each tournament are \$90 for Members and \$100 for Non-Members. The MSC Membership is \$45 per participant each season. Non-member fees are not applicable to the membership fee. Cash is the preferred method of entry fees. For first time entrants, checks will be accepted.

How it Works:

Payout is 1 for 2, same day. The format is 7 random match games, with an 8th game being a position round. The top 5 plus any seeds go into the stepladder. A 4 or 5 game Stepladder follows. When there are 4 or more Super Seniors or if there are 4 or More Real Old Guys, one must be in the ladder. There must be at least one bowler over 59 years of age in the ladder.

To cash, one must finish in the top 50% of one's age bracket, otherwise you **DO NOT** cash. Cashing will be based on 1 for 2 for each age bracket. Only exceptions: all players over 59 who finish in the natural prize list will cash.

Women are guaranteed a 1 for 2 pay out. .

The year-end tournament has added money to each payout position. To qualify for the year end event, a bowler must be a member and have played at **least 3** tournaments in the 2021-2022 season.

Any questions regarding payout and scoring will be left to the discretion of the Director.

Age Classifications:

50 through 59 is a "Regular"
60 through 67 is a "Super Senior" (SS)
68 and Older is a "Real Old Guy" (ROG).
One's age determines the bracket they are in.

Every tournament is certified by the USBC.



L to r Jerry Holldorf, Clark Poelzer, Tim Baxter, Champion John Hommes, Dana Wright

Sixty eight, 68, entries at McPete's!!! Astounding, not since 2008 has an MSC had at least 60 entries. The MSC is not used to this number. I thought the tournament moved along as well as could be expected. Our desk/data manager, Amy Oulman, did a wonderful job of collecting and posting the data quickly and accurately. Eric Peterson, our host, was apprehensive about us finishing in time for his 6:15 leagues. I, too, didn't think we could do it, but we did.

Thanks to all who showed and were ready to bowl when it was their turn.

John Hommes, unbeatable, as he won his 8 qualifying matches and won the all important last match, to win his 2^{nd} title. For the 9 games on a tough shot, he averaged almost 240. With this win, he moves to 3^{rd} in both the PoY and Prize lists. Hommes has had 9 2nds since his 1^{st} title. Five events remain, watch out for this guy.

Tim Baxter, bowling his 1st MSC, acquitted himself well. He was 2nd high qualifier, averaged 230 and won 7 matches. In the semifinal, he edged Clark Poelzer to advance. The title match saw Hommes throw almost nothing but strikes and Baxter couldn't get lined up. Nevertheless, a great event. Hopefully, he will bowl another MSC sometime in the future. I'm told he resides in Iowa.

Finishing in 3^{rd} was Poelzer. He seems to always be in the ladder. He is looking for title #22. He did defeat Jerry Holldorf and Dana Wright in the 1^{st} 2 ladder games. Against Baxter, he was a strike shy of advancing. With this finish, he assumes 2^{nd} in the PoY and Prize lists.

Wright is seeking a 2nd title. The match against Poelzer was close through 7 frames. A tough luck shot in the 8th did him in. Wright was 2nd high scratch in qualifying, won 6 games. He moves into 8th on PoY list. With 5 events remaining, look for him to finish in the top 5.

Holldorf qualified 4th. He bowled well, averaging 220 and winning 6 games. He has a title to his credit. The match against Poelzer was close. He was a strike short of winning. Holldorf, a part time MSC player, had a very good event. Hopefully, we will see him more often.

Next Tournament+ Super Bowl

<u>Date:</u> Sunday,

January 23, 2022

Paddock: 8:15am

<u>Warm-up:</u> 9:00am

Bowl: 9:10am

Address: 6720 Riverdale Dr NW

Ramsey, Mn 55303

Phone Number: 763-421-7779

<u>Directions:</u> MapQuest, Google or use

your GPS for Directions. ©

Super Bowl has 24 Lanes, Full Service Bar, Arcade, Video games, Snack Bar, Pull tabs

2019-2020 Tournament Schedule Dates and Sites					
Sunday, August 22	TexaTonka				
Sunday, September 19 rd	Bogarts				
Sunday,October 17 th	Colonial Lanes				
Sunday, November 21 th	Drkula's				
Sunday, December 19 th	McPete's				
Sunday, January 23	Super Bowl				
Sunday, February 27	Sundance				
Sunday, March 26	TBD				
Sunday, April 24	Cedarvale				
Saturday, May 21	Southway Bowl				

Previous Winners at Super Bowl

Bruce Forsland, Terry Halida, Brian Floen, Mike Wirz

Number of entries 68

Regulars 36 have to pay 18
Super Seniors 22 have to pay 11
Real old guys 8 have to pay 4
Ladies 2 have to pay 1

A Brief Glance at the 2021-2022 Season

- 5 Tournaments
- 242 Total Entries
 67 Different Players have Participated in at Least One Tournament
- 4 Different Winners
- 3 One Time Winner
- 1 Two-Time Winner
- 0 three time Winner
 After 5 Tournaments, the Field Average is
 201



J.D.'S FAIRLY USELESS INFORMATION

Honor Scores: Larry Birkedahl-300

High 3 Game Start	Ladder Guy	718	D Wright
Low 3 Game Start	Ladder Guy	636	T Baxter
High Game Start	Ladder Guy	259	C Poelzer
Low Game Start	Ladder Guy	192	T Baxter

Field Average: 199

High 3 Game Start	Casher	700	R Cleveland
Low 3 Game Start	Casher	577	J Wenzel
High Game Start	Casher	259	R Henk
Low Game Start	Casher	169	J Wenzel

First Time Casher: Baxter, Bischoff,

Most Wins: --8-J Hommes, 7-Baxter

All Deuces: -Hommes, E Peterson, Bischoff

<u>Needed to make Step Ladder:</u> Win at Least 5 Games + Average 222

Needed to Cash: Average 207 and Win at Least 4 Games

Age Group Averages for this Event					
Regulars 200					
Super Seniors	200				
Real Old Guys	188				

Results of the position round

Hommes remains in 1st
Wright drops from 2nd to 3rd
Baxter moves to 2nd from 3rd
Holldorf remains 4th
Poelzer moves to 5th from 6th
E Peterson drops to 6th from 5th

Rants & Raves:

Thanks to Eric Peterson. We unexpectantly had 68 entries, which may have delayed his 6 oclock leagues. We barely finished in time. The Shot was good, but scoring was low. The few lane problems were resolved expeditiously.

Visit the MSC Website for the Latest News for the 2021-2022 Season

http://midwestseniorclassic.com/

	INIOONE	1		
	INCOME			
Entries		68	\$90	\$6120
Membership		12	45	\$540
Non Member		10	\$10	\$100
Reduced Entry				\$0
Total				\$6760
	Outgo			
Prize Fund	From entries	68	\$72	4896
To yearend fund		68	\$5	\$340
To Director	Member fees	12	\$45	\$540
To MSC Fd	Non member	10	10	\$100
Lineage		68	10	\$680
To MSC Fd		68	3	\$204
	Total			\$ 6760
Actual prize paid out				\$5140
Borrow from MSC to meet payout				\$0
Ball drawing	To yr end			130
Value of MSC Fd				\$342
Year end fund		242	\$5	\$1210
				-
YTD value total				\$1500

Special Note

The Ball drawing netted \$130 Which went into McPete's prize fund.

Fred Schossow won the ball

Т

pos	pts	Player	scratch	bon	total	\$\$\$\$
1	25	John Hommes-SS	1871	320	2191	400
2	23	Tim Baxter	1838	280	2118	330
3	21	Clark Poelzer-RoG	1776	240	2016	310
4	19	Dana Wright	1853	240	2093	280
5	17	Jerry Holldorf-SS	1783	240	2023	255
6	15	Ed Peterson	1766	240	2006	220
7	14	Dave Oulman	1814	180	1994	205
8	13	Ron Cleveland-SS	1767	220	1987	195
9	12	Steve Bohn	1733	240	1973	190
10	11	Larry Birkedahl	1822	140	1962	180
11	10	Rick Henk-SS	1754	200	1954	170
12	9	Mike Bischoff	1785	160	1945	160
13	8	Kurt Hanke	1688	240	1928	150
14	7	Bill Faeber	1777	140	1917	130
15	6	Eric Haugan	1676	240	1916	110
16	5	Dave Olynyk-SS	1666	240	1906	105
17	5	Warren Manske-SS	1662	240	1902	105
18	5	Jeff Wenzel	1671	200	1871	105
19	5	Fred Schossow	1670	200	1870	100
20	5	Mike Schmid-RoG	1620	240	1860	90
21	5	Tom Adams	1653	200	1853	90
22	5	Doug Uptagrafft	1670	180	1850	90
23	5	Craig Goodwin-SS	1687	160	1847	90
24	5	Bruce Schmiesing	1639	200	1839	90
25	5	Tom Jones	1597	240	1837	90
26	5	Ken Holets-RoG	1616	220	1836	90
27	5	Larry Hill-RoG	1627	200	1827	90
28	5	Dave Jones	1667	160	1827	90
29	5	Mike Pearse	1667	140	1807	90
30	5	Niel Busch-RoG	1566	240	1806	90
31	5	Terry Halida-SS	1624	180	1804	90
32	5	Mike Wirz-SS	1632	120	1752	90
33	5	Steve Caughey-SS	1585	160	1745	90
34	5	Craig Schiffler-SS	1582	160	1742	90
35	5	Tracy Magnuson-F	1416	80	1496	90
						5140
		ladder games				
	4	John Hommes-SS				269
	4	Tim Baxter				168
	3	Tim Baxter			222	
	3	Clark Poelzer-RoG			212	
	2	Clark Poelzer-RoG		236		
	2	Dana Wright		202		
	1	Clark Poelzer-RoG	205			
	1	Jerry Holldorf-SS	192			

Drawing Balls made available to MSC by Ken Holets' Wizards Pro Shop



Statistics 2021-2022 Season

PoY		Average		Gms Won		Money \$\$\$	
Oulman	80	Wirz	220	Oulman	29.5	Oulman	920
Poelzer	77	Oulman	218	Hommes	28	Poelzer	910
Hommes	67	Downer	217	Poelzer	27	Hommes	830
Jones	59	Davis	217	Jones	25	T Jones	715
Jensen	49	Jensen	217	Jensen	24.5	Wright	635
Downer	48			Goodwin	23	Goodwin	595
Wirz	42			Olynyk	22	Downer	500
Goodwin	40			Wirz	21	Wirz	480
Seniors		Seniors		Seniors		Seniors	
Poelzer	77	Wirzt	220	Hommes	28	Poelzer	910
Hommes	67	Downer	217	Poelzer	27	Hommes	830
Downer	48	Hommes	216	Goodwin	23	Goodwin	595
Wirz	42	Goodwin	213	Olynyk	22	Downer	500
Goodwin	40	Corbett	211	Wirzt	21	Wirz	480

36	2	Dan Triske	1566	240	1806	
37	2	Brad Bruggemier	1624	180	1804	
38	2	Wayne Jensen	1624	180	1804	
39	2	Scott Hofstedt	1606	160	1766	
40	2	Mike Ryan	1598	160	1758	
41	2	Todd Van Sleet	1553	200	1753	
42	2	Bill Nelson	1657	80	1737	
43	2	Terry Schachtro	1532	200	1732	
44	2	Tim Racette-SS	1569	160	1729	
45	2	Bob Miller-SS	1567	160	1727	
46	2	Curt Matlock-SS	1563	160	1723	
47	2	Jason Hanson	1536	160	1696	
48	2	Dave Engler	1580	100	1680	
49	2	Richard Vanbek-s	1576	80	1656	
50	2	Jeff Segerstrom-s	1574	80	1654	
51	2	Bill Andresen-SS	1493	160	1653	
52	2	Tim Peterson-SS	1519	120	1639	
53	2	John Stoebner-SS	1498	120	1618	
54	2	Mike Week	1530	80	1610	
55	2	Steve Kohner	1517	80	1597	
56	2	Kevin KinzlerBob	1454	120	1574	
57	2	Brad Irwin	1431	120	1551	
58	2	Bob Davis	1455	80	1535	
59	2	Marty Malinen-ro	1451	80	1531	
60	2	Jim Winter	1411	120	1531	
61	2	Dean Bruinsma-s	1395	120	1515	
62	2	Brian Debolt	1407	80	1487	
63	2	George Blazej-ro	1403	80	1483	
64	2	Mike Zwilling-SS	1334	80	1414	
65	2	Larry Schween-SS	1333	40	1373	
66	2	Cam Kohner-F	1332	0	1332	
67	2	Mike Houck	1261	40	1301	
68	2	Jeff Stang	1300	0	1300	